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QUESTION 1
Which two statements describe a routing policy? (Choose two.)

A. Attribute changes applied to export policies always affect the local routing table.

B. Routing policies are used to choose which routes are sent to neighbors using dynamic routing protocols.

C. Active and inactive routes are available for export from the routing table.
D. A routing policy allows you to control the flow of information into the routing table.

Correct Answer: BD

QUESTION 2

What is the purpose of the discard action of a firewall filter?

A. The system silently drops the packet.

B. The system evaluates the next term in the policy.

C. The system drops the packet and logs the entry.

D. The system drops the packet and sends an ICMP message.

Correct Answer: A

QUESTION 3

What happens when a route does not match any user-configured policies?
A. The route is rejected.

B. The route is accepted.

C. The route is given a lower priority.

D. The route is sent to the default policy.

Correct Answer: D

QUESTION 4
Which two statements about subnet masks are true? (Choose two.)
A. If a bitis turned on (1), the corresponding bit in the IP address is used for the host portion.

B. If a bit is turned off (0), the corresponding bit in the IP address is used for the host portion.
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C. If a bitis turned on (1), the corresponding bit in the IP address is used for the network prefix.
D. If a bit is turned off (0), the corresponding bit in the IP address is used for the network prefix.

Correct Answer: BC

QUESTION 5

You are in configuration mode at the top of the hierarchy. How would you save your configuration to a file on the
router?

A. save configuration
B. save config

C. save

D. save run

Correct Answer: C

Latest JINO-103 Dumps JNO-103 Practice Test JNO-103 Braindumps

Latest JNO-103 Dumps | JNO-103 Practice Test | JNO-103 Braindumps 3/3


https://www.leads4pass.com/jn0-103.html
https://www.leads4pass.com/jn0-103.html
https://www.leads4pass.com/jn0-103.html
http://www.tcpdf.org
https://www.leads4pass.com/jn0-103.html
https://www.leads4pass.com/jn0-103.html
https://www.leads4pass.com/jn0-103.html

